COMPMWTM :
‘.SuWAL Anak LonY, {bny awﬁwm with i_o;ri)Ne koamd | and.
0n £ bn %raﬂ n

| T

i".% conver%esj =>\ ni:i'an comw?u ‘
| | Zion divwger | => | Lon divargen

! CAUTION : ! E‘bn d:tvag,u: =2 o conolusien
0

=> o conewelen,
EOA o.onmgw s

Txormaer .

0

|
b. 17 ) QO“U—_‘?_JQ"@_% \;3 Fre Comupantiven Toak -

=\

l L L ¢ AorieA,
U < X and PR \Aaepny/_g@%mmmcwm.

oo

2. = ZYTY}?:} converptA by A Conmpanieu Teak -

LR

LD W 7 -1

s S am T am M Bam = w D w oneyd
. (p-doried, p=2.>1)
n

7)~ z-"‘ bni_qp SdvapA b\é*eme ODMUPMMTM

Ty >Tn‘*’ T and ;{_’:bn_ézndw




E awﬂ:\);nh(%ﬂ converps ba‘“/\.eco anio sk

OALkAN (3n) __T_YJ_?-_ and f: _T_rl&_:l{ﬁ ‘. Conver s

2.4 4 = n?-."! N
n " ‘ q;..g@u‘e/s w/ Y=2-“t>\

o0 qh"‘\

oy Suph bye Companinn T

qn-l-l q“‘l" _ i“ i
o >—-—"‘%n —7*(8) and ZZ.‘?() A,
(qeowetnic toviss w/ nasio 8>\>
() 2/n
e \
E’_‘ A dvoweed oy M Conwpantnon Tk
2] | o0
_e_n_“, Y & omd E"ln" V.oApA (narwmowt'e /wws)
©o 2 —_
Z c::,s_‘_;_ aonv by Ane Companipeu Teak
2 \ 7 1 pth (p-honi =
%S:% s n‘t-t-:L < n“ and %:Z’\ h4 cont (P AMW/P 45
7, AT onenpen by e Conupantin Tesk-

H+%n(n) , A+ =2 and ‘E’. m@%@( iwekaue Aeaden
3!’\ . 3N 3" =1 W/I\AHO—L'<‘>



D.

Limit Cowpaniron Teat ; (LET)
Su,ﬂpobe {dn‘l( 5 1bn} ane A&W with f@kn‘h‘\)z Aoama | I%‘

o Y W .@.Q...-_—Q)o

n-»c0 bn

\ Xhen %?'an 18 é\yn 2 en Botth QD!\L\I.Uﬁ OR Boita dL'V.QAf,Q

i)(MM :
0 |

b 2N+ 2.

n=\

?
\ .
Cannot Ao the tTriek with Zn12. ? ;\n 4 because Zn+27” 2n

o infaek ;J— £ %er " anAmConWQA tneonaluave.,
A, ( Z bn di.\wgwx => W0 cnmzwm‘eu)

Tk we do he Knal e towwn of e Aeatos rewnd u of Hre
Snarwowe deaizh... Fo ek

Qn = ’%n\-\-z, ) \ bn: _\V'C,
T e G5 = e P~ 50 = 500
oy LCT, Zian divarge) , becoune T br div arped.
o  N=6n

79- ?:_", N4 4n +3

?).

2
Lk Qn = e L and bn:__\n_’.

>
N+« 4an+7 gty (2
Qn  _ . N2 Ln+3 - i n “"éh’ _
Then Lo = = B = Sl Tana =1 20
21 0n mvzg;u ‘gqv LeT, heaauae g‘bn dwz%u.
ﬁ 5n*+2.
nz) n"-l—lnz-l', iQA aony. ’!E LeT
let an= 5n’+2 and bp= A = " e
N TRk onte) "7 A Sinee 22 bn converpen

Then %[M&,_(_l_f_\_ = _Um nﬂ(5n7.+2)4=5>0 (P‘AUJ‘KA W/ ?:4>D'




